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1. Study the following analysis of experimental results (Bates et al., 2003, Timed picture
naming in seven languages, Psychonomic Bulletin & Review, 10 (2), 344-380). This
experiment tested speakers of seven languages that vary in syllable complexity. Each
speaker named pictures of objects in his/her native language. The response times (from the
display of the picture to the onset of speech) were then analyzed for the influence of

neighborhood density and phonotactic probability.™

Language Syllable complexity Neighborhood density | Phonotactic probability
Bulgarian High Slows response Speeds response

English High (e.g. strengths) Has no effect Slows response

German High Slows response Speeds response
Hungarian High Speeds response Speeds response

Italian Moderate Speeds response Slows response
Mandarin Moderate (e.g. ¥r) Speeds response Slows response

Spanish Moderate Speeds response Slows response

“The phonological neighborhood density of a word reflects the number of words that share an

overall similar with it (e.g., fight and kite are neighbors in English, as are laugh and loaf, and

lay and sleigh). The phonotactic probability of a word reflects the average frequencies of its

parts (e.g., sphere has a lower phonotactic probability than spear, since /sf/ appears in fewer

English words than /sp/).



1.1 Why 1s English classified as having “highly complex” syllables and Mandarin is classified
as having “moderately complex” syllables? Give one additional example for each type of
language, besides the seven languages listed here. [8%)]

1.2 Describe the general influences that syllable complexity has on the direction (speeding vs.
slowing) of the neighborhood density and phonotactic probability effects. Which languages
show unusual patterns, different from the general one? [8%]

1.3 Propose an explanation for why syllable complexity has these general influences. [4%]

2. Consider the following four examples and the hypothesis below them. Falsify the hypothesis
with more examples. [10%)]
(1) John likes the book.
(2) The boys like the book.
(3) *John like the book.
(4) *The boys likes the book.
Hypothesis: each sentence must have one and exactly one —s ending on either the subject or
the verb; thus, the sentence in (3) is not acceptable because neither the subject John nor the
verb like has —s, and the sentence in (4) is not acceptable because both the subject and the

verb have —s.

3. Compare the following three sentences and explain why the sentences in (1) and (3) are

acceptable, but the sentence in (2) is not acceptable. [10%)]
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